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This Test Booklet contains 100 questions. Each question comprises four responses
(answers). Choose only one right answer.
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After the candidate has read each item in the Test Booklet and decided which of
the given options is correct or the best, he has to mark the circle containing the

letter of the selected response by blackening it completely with Black or Blue ball
pen. In the following example, response ‘C’ is so marked :
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Section-11
English

Q. No. 26 to 28 : Read the following passage and answer the questions at the end of
passage.
Man is the architect of his own fate. If he makes a proper division of his time,
he is sure to prosper in life but if he does otherwise he is sure to repent. To kill
time is sinful. Youth is golden season of life. If we loose this time, we will
have to repent the whole of our life.

26.  Who spoils a man’s life ?

A. God B. Fate
C. Man himself D. Nobody
27.  Inorder to prosper in life, man should make best use of :
A. Fate B. Time
C. Opportunities D. Ambition
28.  If we are not careful in early life, in later life we will suffer from a sense of :
A. Propensity B. Loss
C. Misbehaviour D. [Irregularity

Q.No.29to33: In each of the questions, a sentence with one or more blanks has

been given. From the given options fill up the blanks to make the sentence
more meaningful.

29.  There were viewers than expected.
A. fewer B. less
C. many D. lesser
30. Can you bring me books I left in the garden.
A. this B. that
C. these D. those
31. The fertility of land is barely sufficient to twelve people to the
acre.
A. revive B. raise
C. sustain D. help
32.  What most is the positive attitude of the people ?
A. impeaches B. recognises
C. matters D. troubles
PAT16 7
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33.  The incident has severe damage to the of the employees.
A. resulted—optimism - B. produced—conduct
C. caused-morale D. led—emotions

Q. No. 34 to 35 : Fill in the blanks with appropriate correct conjunction.

34. We are leaving on Wednesday or not it rains.
A. if B. whether
C. through D. since
35.  Pay attention to your work you will not make mistakes.
A. unless B. so that
C. through D. if

Q. No. 36 to 37 : Fill in the blanks with appropriate word.

36. The football team travelled train.
A. in B. by
C. from D. on
37.  He takes much interest painting landscapes.
A. for B. of
C. in D. to
Q. No. 38 to 39 : Choose the correct verb from the four options.
38.  Ravi has been in Delhi since he was five years old.
A. stayed B. staying
C. stays D. stay
39. What you busy yesterday ?
A. keeps B. will keep
C. kept D. is keeping

40.  Fill the correct word in the blank.

His first failure did not him from making another attempt.
A. deter B. hold

C. stop D. check

Q. No. 41 to 42 : In the following questions, out of four

: ; . alternatives, chooge the
which can be substituted for the given words/senten

one
ce. -
41. A decorative handwriting.

A. Calligraphy B.

Manuscript
C. Inscription D.

Hagiography

pATI16 8
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42.  Flat metal plate fixed on a wall as an ornament.
A. Tabloid : B. Poster
C. Board D. Plaque

Q. No. 43 to 44 : Choose the word with correct spellings.

43. A. Perniceous - - B Pemici.ous
C. Perniciuos | D. Perneciuos

44. A. Confidencial B. Confedencial
C. Confidential D. Confidental

Q. No. 45 to 46 : Choose the word which is most opposite in meaning to the word
given below.

45. Bothered : :
A. Calm B. Uninterested
C. Focussed D. Distracted
46. Denounce : _
A. Accept B. Accuse
C. Condemn D. Faith

Q. No. 47 to 48 : Choose the word which is most similar in meaning to the word
given below.

47. Stunned :
A. Fainted B. Surprised
C. Pleased D. Injured
48. Gallantry :
A. Maverick B. Valour
C. Cowardice D. Fearfulness
49,

Complete the sentence/proverb by choosing correct option.
Birds of a feather :

A. live together B.

breed together
C. flytogether

D. flock together

50.  Choose the correct meaning of the following phrase/idom underlined in the
sentence from the options given below :
The scientist worked for donkey’s years to arrive at the formula.
A. alongtime B. ashort time
C. for donkeys D. fora few years
PAT16 0
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Section-I11
MATHEMATICS

51. =1 w9 o gymamees g (7) o T W T oAme ¢
8597 —?= 7429—4358
A. 5496 B. 5526
C. 5706 D. 5476

~ In the following question what comes in the figure (?)
8597 —-7= 7429-4358

A. 5496 : B. 5526
C. 5706 D. 5476
52. Q) WIS x qUT y oh1 HEWH GHIYEde G TSR GHTIE AT 3 T 105 B | Ffd
x+y=361dd l+i=
x ¥
A. 35 B. Ll
5
C. gl D. 1
IR, 35 35
,\17"\\;@2 The H.C.F. and L.C.M. of two numbers x and y are respectively 3 and 105.
A :
; ;":Z/\ ! If x + y =36 then —1-+l=
5 TN Xy
ARV
F T A 35 B. 3
¢ ™ 5
C. — - D. L
35 35

53, T 8 yvaress g (7) o SO ORI o ?

(0.06)* +(047)° +(0.079*

(0.006)> + (0.047)% + (0.0079)>

A. 0.1 B. 1.0

C. 100 D. 1000

In the following what comes in the figure (?)
(0.06)* +(0.47)* +(0.079)> .

(0.006) +(0.047)% +(0.0079)>

A. 0.1 B. 1.0
C. 100 D. 1000
PATI6 : 10
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54.

35S.

56.

57.
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A. 40 B. 60.

C. 45 D. 50

Of the three numbers, the ratio of first and second is 8:9 and that of second and

third is 3:4. If the product of the first and third numbers is 2400, find out the
second number :

A. 40 . B. 60
C. 45 D. 50

11
[P.T.O.

5§><62+5—=

6 7 2 »

A. 40 B. 405

C. 425 D. 43

Simplify the following :

CENPE L

6 7 2 4

A. 40 B. 40.5

C. 425 D. 43

T xx~/0.0016 = 4,7 x T TH BT :

A. 0.04 B. 4

C. 25 D. 100

If xx+/0.0016 =4, then the value of x is :

A. 0.04 B. 4 S
C. 25 D. 100 i\jé;/
g (x—y) H160%=40% (x+y) qty, x EARETEIRIGN GRS ,,bO\ 4 Dg;\é
A, 20% B. 25% N b
C. 22% D. 38 @ s 7El N <
If 60% of (x— ) =40% (x + y) then what per cent of x is y ?

A, 20% B. 25%

C. 22% D. None 6f these
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60.

A. 2:5 B. :
C. 6:7 1" I
TEA1 2, 5, 11,20, 32,47, 86 H o G&AT F1d shifSrT |
A. 60 B. 65
C. 58 D. 62
Find out the missing number in the series 2, 5, 11, 20, 32, 47
A. 60 B. 65
C. 58 D. 62

61.

naAaTlA

afe 22 =16%. a1 x°
A. 2

C. 8

If 22" =16, then x°
A.

C. 8

w

B.
D.

4
16

A TE, U S TE ¥ T 20% €1 S0% A B | 3 A GEAAl h

Wﬂ%:
A. 2:5
C. 6:7

B.
D.

4:5
3:5

Two numbers are respectively 20% and 50% more than a third number. These

two numbers are in the ratio :

,__ 86.

o
X
(&

‘A’ E S FT A E. 1200 F Gl 009 F @O | 36 Tl L w209
3
RIERCERECITI I CRYN wgaam 10% 1 B 8 T 9 gu w=dl o fhay

T G =7
A. 16%
C. 22%

‘A’ purchased some oranges at a total cost of Rs. 1200/-. He sold

these oranges at a loss of 20%.
remaining oranges were sold ?

A.
C.

16%
22%

o

B.
D.

15%
25%

15%
25%

Erd part of

If *A’ had a profit of 10%, then at what profit
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62.

63.

| @W@ﬁmw%mﬁ@mmlwasmag 900 7 (-

wrmzwnmwmmmﬁﬁmmaﬁﬁz o
A 9% B. 10% 3
C. 11% D. 11%%

A shopkeeper is selling his goods at cost price, but he uses 900 gms weight for

| kg. His gain percentage is :

A, 9% B. 10% i
- 1 T
G 1% D. 11-% @.‘f ol

9

3wl § U 3 ¢ 5 B | Al gl et 10a€1ﬁmmaﬁa§m§(\5\; 7

REINEIR S IFIGETE _—

A 3,5 B. 7,9 »»,’;‘Z”é%

C. 13,12 D. 15,25 )*7-’/ '

. 64.

65.

PAT16

Two numbers are in the ratio of 3 : 5. If each number is increased by 10 the
ratio becomes 5 : 7. The numbers are :

A. 3,5 B9
C. 13,12 D. 15,25

N
T SR @M Sl FAHH Y H SIS : 4 7 | A 99 o8 IehT g H o1 ?78(2
11 : 9 B S 2 | T 6l a1 fohe ad R & o e 5?7 '
A. 28 B. 27 /S £
C. .26 D. 24
At present the age of Ram and Shyam is in the ratio of 5 : 4. After 3 years the
ratio willbecome 11 : 9. Find out the present age of Shyam :
A, 28 B. 27
C. 26 D. 24

‘A’ T ‘B’ 1 SATIR IREY A & T ST %, 3500 991 5. 2500 T 4 7T
are ‘C’ #ft %, 6000 <R I B T | AR O F R qen ‘B’ % o =1 o1=x

. 1977 941 41 F Aifier 31ry am oft ? 5@’5);
A. F15620 B. ¥16240 (g\z
YV /

Al 4 A
C. 12770 D. % 13180 s ‘2%
&

ARe”
%

mrm A~
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66.

68.

‘A’ and ‘B’ began a business with Rs. 3500 and Rs. 2500 respectively. After 4
months ‘C’ joined with Rs. 6000. If the difference of share between ‘C’ and ‘B’
is Rs. 1977, then find out the total annual income ?

A. Rs. 15620 B. Rs. 16240

C. Rs. 12770 D. Rs. 13180
q'i%«'x+y=18?72ﬂxy=72,?l}f(x)2+(y)2$IWW%= %
A. 120 B. 90 ,

C. 180 D. fiaffa 7 R s @k \@E
Ifx+y=18 and x y = 72, what is the value of (x)2 + (y)2 : "
A. 120 B. 90

C. 180 D. cannot be determined

36 A foheft ohrr ot 14 fo F R 2| af 8 o F v w@ew e @ A o
Hfafeh wergl <t s/t vt ?

A. 29 B O

C. 27 D. 23

36 labourers complete a work in 14 days. If the work is to be completed in 8
days, then how many additional labourers are needed ?

A. 29 B. 33

C. 27 D. 23

A, B ¥ 60% SI1€1 W& ¢ | fd A 3tehet Torelt &l 0t 15 oA § @em o e B
a1, A 3R B 21 fierent 3¢t il ot forem fooi & @en ot a7 (

7 9 3 W
——— B' 8— - = /
A 9= 13 %ﬁ; A,
c. 92 D. 10— X \25/)( ,.
713 13 y

‘A’ is 60% more efficient than B. If “A’ takes 15 days to complete the wor
then A and B together complete the work in how many days ?

7 9
— B. 8—
A. 9]3 | 3
s By a0 i
. e D. 10—
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69.

70.

TfieRor [ a9 11 el 8 <hifsTe ud e & & wdt faereg 31a s

I x*+8x+15=0 %/VQL gx
. y*+3y+2=0 \?)

A, x>y B. x<y v

C. x2vy D. x<y

Solve equations I and II and find out the correct option given below :
. x*+8x+15=0

. y*+3y+2=0

A, x>y B. x<y

C. x2y D. x<y

ZOOOMSHﬁanW%W 2600‘6@@311%@?1&'%& 3%

Rs. 2000 amount to Rs. 2600 in 5 years at simple interest. If the interest rate is

gl 5

LK. %2900 B. %3600 wmxw %Lg
C. %3200 D. 34 9 I3 & %5@
“

71.

PATI16

increased by 3%, it would amount to how much ?

A. Rs.2900 B. Rs. 3600

C. Rs.3200 D. None of these

3Thi & I (—5,7) ( L3) Faa R g

A. 4 B. 42

C. 8 D. 16

Distance between the pair of points (-5,7)and (~1,3):

A. 4 B. 42

C. 8 D. 16

. 12600 w1 2 ¢ & forg 10%%&@@@%%%@%%

affer TaTfed Bran & | Qﬁcz 2 > b
0

A, T2646 B. %2600 N P

C. %2746 D. %2800

Find compound interest on Rs. 12600 at 10% per annum for 2 yearg
compounded yearly,

A. Rs. 2646 B. Rs. 2600
C. Rs.2746 D. Rs. 2800

15
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74.

75.

aﬁﬁﬁmaﬁaﬁﬁwzo%mwamaﬁmmﬁﬁmﬁmw

ATt ?
A, 36% B. 32%
C. 21% D. 42%

If the radius of a circle is decreased by 20%, find the percentage decrease 1 1ts

area .

A. 36% B. 32%

C. 21% D. 42%

afs R fam § AB = AC @91 ZABC = 50° T A

AM, BCR T 8, a1 £ MAB®:

A. 60°

B. 40°

C. 50° q

D." 30° B M C
In the given figure AB = AC and ZABC = 50° A

and AM is perpendicular to BC then £ MAB =?

A. 60°

B. 40°

C. 50° :

D. 30° ‘ & (M v

TF gaTE ST U ffvea g i 240 FRfl wR v A R @ 5 9o F 99 v 2
w@ﬁléwﬁﬁmw%%ﬁmmaﬁrﬁm:

A. 300 fordt /ava B. 360 Tl /=ue

C. 700 fFH/wve D. - 720 it /uuey

“ An aeroplane covers a certain distance with speed 240 km/hour in 5 hours. If

2
dist is to b in 1- W Wi
the same distance is to be covered in 13 hours what will the speed of the

aeroplane ?
A. 300 km/ hour B. 360 km/ hour
C. 700 km/ hour D. 720 km/ hour
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76.

71.

78.

79.

Section-1V

GENERAL KNOWLEDGE

e 3 qeTd 4t ot feTe wew § e T g ¢
A, 11966 B. 1 3&H 1956

C. 1smail1971 D. 1537 1972

When were the Punjab Hill areas transferred to Himachal Pradesh ?

A. 1® November 1966 B. 1% October 1956

C. 1% January 1971 D. 15™ August 1972

‘et Seera (Rl o] ad BTe # HARI ST 91 foraa Trafd 2 :
A. TEEEH B. WmMWI®NH

C. ¥549 D. Wer e dld

‘Bhunda’ festival is associated with (celebrated in Shimla, Kullu and Manali) :
A. Parshuram B. Lomasha Rishi

C. Buddha D. Mahasu Devta

M € Yad e AT 9831 i fosed € 1T i 8 ¢

A. GAER B. dRUs

C. T&gzu D. SER

Which mountain range separates Himachal Pradesh from Tibet ?

A. Dhauladhar | B. Pirpanjal

C. Hindukush D. Zaskar

199 ITATSE] & Tet <9k H fRHTEe ISN W TSN SR FTed] @t ST 1 ShATUET
o7 ? '

A. wf® am B. 3R 4% amm
C. W& T D. Sl ST

Who was the commander of the Gorkha Army who attacked Himachal Pradesh
in the first decade of 19" century ?

A. Bhakti Thapa

B.  Amar Singh Thapa
C. Ram Singh Gurung

D. Tej Bahadur
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80.

81.

82.

83.

1800 3. 3 waremgE af fr-fr & e ge ol ?

A, TIREn qt e |

B. T e fafew

C. TORE= a1 U= Wi 88

D. T st g e feife

In 1809 the Jawalamukhi Treaty was signed between :
A. Gorkhas and Sikhs '

B. Sikhs and the British

C. Sansar Chand and Raja Ranjeet Singh

D. Raja Ranjeet Singh and the British

femrere wowr # wed QU S - forega wfEis R H B 7

A. T (FTET) | B. YA S TR

C. el (fremaq) D. fre (a=e)

Which is the oldest hydro-electric project in Himachal Pradesh ?
A. Baner (Kangra) B. Shanan Joginder Nagar
C. Bhakhra (Bilaspur) D. Thirot (Lahaul)

‘Trer’ form o T afrg T 2 7

A. T B. WUt

C. Foad D. =TT

‘Jhanjar’ 1s famous dance of which district ?

A. Chamba - B. Mandi

C. Kullu D. Kangra

femTeret Sew1 & T & fohae Hew 3 o 2 7

A, 2 B. 3

C. 6 D. 4

II: Hirznachal Pradesh number of m;::be;s elgcted for Raj ya Sabha ,are :
C. 6 D. 4
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84.

86.

87.

DA,

mmﬁﬁw%mﬁamﬁﬁwwwmwﬁmm ‘e
TR & = A ferfaa e s
A. Tamen B, SITel

C. Hug D. 3l
Under the Govt. of India scheme which town of Himachal Pradesh is recently

selected to be developed as “Smart City” :

A. Shimla B. Dharamsala

C. Mandi D. Una

18 STl 1948 T §U el TeATIE T Aqed fee feham o1 ?
‘A, HENW 9=d B. wawrm vl

C. YIS | D. U 9yeHd

Who led the Suket Satyagraha on 18" F ebruary 1948 ?
A. Sada Ram Chandel B. Sita Ram Sharma
C. Bhagmal Sautra D. Pt. Padam Dev
Pt 2 ot it o g s <) T v 2 7

A. FEG, T, MeEd B. S, o, el
C. %M, Merad, ar D. HeT, T, JEd

Which group of rivers flow into the Bay of Bengal ?
A. Brahmaputra, Ganga, Godavari

B. Cauveri, Krishna, Narmada

C. Kirishna, Godavari, Tapti

D. Narmda, Ganga, Brahmaputra

ﬁmﬁrﬁaammﬁqﬁﬁq%ﬁﬁm%amfmwﬁmﬁwaﬁmz |

. AeHvsd 2. &vHuEd
3. GHJMIHTSA 4, EMUSH
A. 1-2-3-4 B. 2-1-3-4
C. 2-3-14 D. 3-4-2-]
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Arrange the following layers of atmosphere vertically from the surface of the
earth :

1. Mesosphere 2. Trophosphere
3.  Stratosphere 4,  Thermosphere
A. 1-2-3-4 B. 2-1-34
C. 2-3-1-4 D. 3-4-2-1
88. WM U o H, Y hl UfshaT I Bl & -
A. T8 Tl | - B. W@IRwH
C. 7guiiH D. MR H
In human digestive system, the process of digestion starts in :
A. Oesophagus B. Oral (Buccal) Cavity
C. Duodenum D. Stomach

89. WU & e dd P aTwe ot a2 ?
A, AITRWIEIAEIE B, STHIAFS A0S A 7
C. AT FMIRAME  D. FS IR ad &

Which one among the folloWing statements is not true for mammals ?
A. They possess hair on the body B. Some of them lay eggs
C. Their heart is three chambered D. Some are aquatic

90. T @ = a1g WieTE BF I S T JETad AT B @ ?

A. dla B. =

C. Tieha p. diferm

Which one among the following metals is mainly used in mobile phone

batteries ?

A. Copper " B. Zinc

C. Nickel D. Lithium
91. Fr=d @ & ot U et il R R 7

A. BASIC B. C”

C. JAVA - D. PAINT BRUSH

In the following which is not a computer language ?

A. BASIC B. C"

C. JAVA | D. PAINT BRUSH
PAT16 _ 20
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92. T @ B e e wred fy wdt wran | a1 ?

A. TTETSIGS! B. ®IW
C. o D. ehTeltE
In Indus valley civilization which among the following was port city ?
A. Mohenjo Daro B. Harappa
C. Lothal D. Kalibangan
93. IR T i % A A sty d ol T’ s Eron <A ?
A. ek B. TR
C. AT D. Ut
“Purna Swaraj” was announced in the Indian National Congress session of :
A. Calcutta B. Lahore
C. Nagpur D. Karachi

94, WA Weror # Sepwa o forw fmm S aren R e A @ HH ER 7
A. T TehTad g B. U= JURR
C. 3T &R D. <M dTed Hloch JEEhR

Which of the following awards is given for excellence in sports coaching ?
A. Sahitya Academy Award  B. Dronacharya Award

C. Arjuna Award D. Dada Saheb Phalke Award
95. 29 WS, 2016 ! AT I TA-9 Fhaaifran fore Fa A Sfiet ?
A. IRl T3 TEeH B. A Jai<d STeiR
Cc. fFa Xl-usm D. GHESd 2eUae
Which team won the IPL-9 tournament on 29" May, 2016 ?
A. Kolkata Knight Riders B. Royal Challengers Bangalore
C. Kings XI-Punjab D. Sunrisers Hyderabad
96. AT (WIET) YUT T Y HeAsi T@d §C 2015 | TR g1 Yafdd il fe § @
FHETR? |

A, o3 =S, AT FHHTA B. o) g=ed, <9 S=sl

C. S =Tl S gttt D. o3 sere, 39 STt

Which amongst the following is the programme launched in 2015 by the
Government keeping the female foeticide in mind ? _

A. Beti Bachao, Naam Kamao B. Beti Bachao, Desh Bachao

C. Beti Bachao, Beti Padhao D. Beti Bachao, Desh Banao

PAT16 21 T A
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97.

98.

99.

T 35 - SHORTT ) A o e 3 7

A, Tgafa B. uH Tt

C. TSIGNT 1 GTIR D. THRaT Teae
Who addresses the joint-session of Parliament ?

A. The President

B.  The Prime Minister

C. The Chairman of Rajya Sabha
D. The Lok Sabha Speaker

WRA H ISHRTET FIE &1 RV S dTefl STl et G & Gae i O el
g

A, gd-ufrm B. IW-Td
C. gfeu-ufzm D. gferr-3w

Which of the following periodical winds blowing from the sea to land cause
summer monsoon in India : |

A. East-West B. North-East

C. South-West D. South-North

Bt -wwedE o Qe forud g 2

A.  RA-9TlREd ' B. WRd-STATQ

C. YRAd--9Ta D. YRd-YH
“Maitri-Express” Railway service is associated with :

A. India-Pakistan B. India-Bangla Desh
C. India-Nepal D. India-Bhutan

100. STc 1 OFcd U dct o Ocd @ SR 2 | I ST &l e S )

A. I HUGT & W q0m B, O S % S
C. U S ¥ ga siam D. 3 THEHH Yo ST6H

The density of water is greater than the density of kerosene oil. If the two are
mixed :

A. Water floats on kerosene ~ B. Kerosene floats on water
C. Kerosene dissolves in water D. They mix.uniformly

Page- 21


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

